CH
ANSWER
HEY DIVISION
(CARE— DIVIDE BY 4, 5, 6 AND 7
MOufm 5 =m| 2 25w 5 =m| 5 A2wpm 7 =m| 6
12ufm 6 ==| 2 36w 6 =m| 6 ABwim 4 mm| 12
18wjm 6 mm| 3 20 5 | 4 AQwjm 4 == | 10
A0wfm 5 == | 8 14 um 7 mm| 2 S wmb5 = 1
A2wfm 7 =m| 6 8 wm 4 = | 2 44 wpm 4 == | 11
24w 4 =m| 6 7 w7 == 1 35mm 5 =1 | 7
21w 7 =m| 3 28ufm 7 == | 4 S5wm 5 =1 | 11
0mm 6 =m| 5 35wpm 7 =m| 5 48 wm 6 == | 8
2wm 4 =m| 8 A2wjm 6 =m| 7 Mufm 6 =m| 9
60mfm 5 == | 12 12ufm 4 =2 3 SCmpm 7 =m| 8
ABwim 4 =m| 12 4 wpm 4 == 1 1Swfm 5 =m| 3
A0 wim 7 =m| 7 6 wjm 6 =m| 1 COmjm 6 == | 11
ASwim 5 =m| 9 28w 7 = | 4 2wfm 6 =m| 12
SOuwfm 5 == | 10 10wfm 4 =m| 4 O 7 =m| 10
24w 6 = | 4 [7Twfm 7 ==| 11 84 mjm 7 =m| 12
Choose two numbers from the box to complete the division sentence
/0 5 7 14 20 45 10 5
70| == | 7 | = 1) 45| wm | 5 | mm g
5 30 10 60 49 2 7 32
60| wm |5 |mm 1o 49 wm | 7 | mm 7
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